SERATE SIkBI JIERALDE PIERA2DE PIEKBHE trZEE
H— ~ PU7:40~8:30 | H =~ 77:40~8:30 |FH="T12:50~14:20| H="112:50~14:20] FH="T114:40~16:10 |H="T1714:40~16:10
FREREE HEREE EEPL A EENPL A EENHL EENHL A
Mme | PEAR | 4% | ARSR | VIR | s | ARSR | AR | W | BRI | PR | 4 | WROE | VIR i dmaf | Pra |
1 FH [MioE| 1 oy | oz | 1 — | ol | 1 PR | ot | 1 72 | #O= 1 |~z |=odl
2 —Z, |BBoE| o FHIk | GorE| o —N | Rofm| o TH [ FoR| 2 Al | =OFK 2 [T [EBoiE
3 = fiof#k| 3 = FToxm| 3 T | Mok | 3 NH | Ffoa| 3 ark | FrO® 3 | =k [BRof¥
4 | AT | FoiE| g4 T [BoF| 4 | —C |#BoZE| 4 PUE | |olm | 4 —“A | #HFOIX 4 |—2z |3BoZE
5 | =2 |#Ho&| 5 | W] |HoE| 5 | WH [Ro#E| 5 | AR | LB 5 | = | #OF% 5 |fiBE |Ro&E
6 |k |HoE| ¢ |WWH (Mot 6 | =2 |FoE| 6 | AH | EoE 6 | k| #O: 6 |—C |BolE
7 —Z &l | 7 T | B’ 7 = EoE| 7 —H [Bom| 7 —T | &O0O& 7 |= Kok
8 | —H |Hofi| g |z |[RolE| g | =2 [Molr| g | =H [ ToE| g ik | B0 8 |[=A |#oZ
9 | ;i |Miogm| 9 | AC |TEcHE| o | ~Z |=oEl| o | AZ |Roth| o | HE | HOM® 9 |= oS
10 | = [Ro&F| 10 | WT [ER| 10 | Ik [#R| 10 | =ZC |Zo#®| 10 | AC |BKOFEH| 10 |=F |#hoE
11 | —H |Zo&l| 11 | W [Fodm| 11 | =k [ Ro8| 11 | IE | MHof@| 11 | A | BOE 11 |= ffio®
12 | —F | =0 | 12 | WT [ZoF| 12 | =T [RoBr| 12 | =C | Mok 12 | AL g 12 |HE |Efo2
13 | i |BRotE| 13 | A |FotE| 13 | =2 |Zo¥E| 13 | AH |=ol&| 13 | =2 | &0 | 13 |=c |Mio#
14 | 7T |[FFoM| 14 | gk [HBoW| 14 | = [FoB| 14 | AT |BoFE| 14 | =2 | #OM | 14 |AF |ToiE
15 | pupl [ZFoP| 15 | < |FFofB| 15 | —C |=om| 15 | U [MRoE| 15 | ZFH | BO% | 15 [A] [S=oiE
16 | purk |=o®| 16 | =H |=oR| 16 | —2 | Ro& 16 | WWH | BB 16 | —2 | BO&E | 16 |~ |[Hfof¥
17 | = | MioEF | 17 | =k [Rof| 17 | —B | BB 17 | =2 | =& 17 |=A |FRokE
18 | A2 |Rotha| 18 | =T |PRos| 18 | —H |MoE| 18 | WHE | #HoW 18 |=2 [|BRotg
19 | HZ | FoiB| 19 | =k [dho#3 19 (g |=olE
20 | —jk | 0B | 20 | UT | EboiE 20 |HE |[BBoE

21 | Mz | RolE 21 |ZC |=ol&
22 | T | EoB
23 | =T [3Rot&
24 | =T | oy
25 | = | tHo
26 | = Solft
27 | I | BoB2
28 | = =olF
29 | T |BRoxE
30 | WU [ERoiE
31 | T | Mok
32 | UZ |=ok
33 | AT |Ffola
34 | =T |Ros
35 | =k | EBoiE
36 | = Fog
37 | = BozH
38 | = dtogs
39 | —7T |¥oH
40 | —J& | FFoif




